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O Find theresult to the nearest hundredth:

8) 23.376 — 15,75 = oo S
) 453.64 — 72,317 = ~

©) 80394 = SE

7 2 7 6 7 4
5,353 b) .- .53
©Put(<,=or>)

z - 1.5 | B

a)9 c) 1.

5 7 2

b) = = d) 4—= 1 4=

6 12 3
® Findthevalue of X:

2 X X 6

a)— = — > X=_.. by — = — —-x=__.

3 6 5 10
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Choose the correct answer:

........................... {©®749 @ 0.749 O 7490 }
........................ { @987 @ 9870 O 0.0987 }
.......... 35 { @ 1000 ® 100 ® 10000 }
AAAAAAAAA =90.09 {©10 ® 100 O 1000 }

@ If 39 x 42 = 1638, then:

a) 3.9x42= ... c)0.0042x39= ...

b) 39x0.042= ... d)0.0039x42= ...

With my best wishes

At Qbalman



